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Answer any five questions
Time: 03 Hours

01.

(a) Discuss briefly the main objectives of macroeconomics policy in a mixed
economy.

(b) Briefly explain the contrasting views on macroeconomics.

(c) According to Lord Keynes "consumption is a linear function". Explain

(d) Briefly explain the different categories of unemployment.

(20 Marks)

(a) Using the concept of the circular flow of income show how a recession might
occur in an economy.

(b) Explain how governments economic policy be used to bring the economy out if
recession.

(c) Why is the level of business investment important in the economy?

(20 Marks)
03.

(a) Explain the income, output and expenditure methods of measuring national
income.

,-- (b) List the purpose of calculating national income.
(c) Suppose the following data are available for an economy (figures in billions of

dollars)

- Compensation of Employees 642
- Income Taxes 116
- Capital Consumption Allowances 95
- Income other than Compensation of Employees 209
- Indirect Taxes 101
- Net Investment 152



04.

Further it is knou'n that there is no corporation, and all income is paid directly to
persons. there are no transfer payments, there is a balanced budget; and
governrnent expenditure is exclusively on the provision of services to the
econom)'.

Calculate each of the following:

(i) Gross National Product (GNP)
(ii) Net National Product OINP)
(iii) National Income (lrtrI)
(iv) Personal Income (PI)
(v) Disposable Personal Income (DPI)
(vi) Government Sector Gross Output
(vii) Private Sector Gross Output
(viii) ConsumptionExpenditure
(ix) Gross Investment

(30 \ larks)

(a) In a given simple economy, National Income was 200 of rihich 180 nere v
consumed and that balance 20 was saved. The National Income increased to
220,by 20 of which 15 was consumed and the balance 5 uas sared. tt igures
in mil l ion Rs.)

Calculate and define the following:

(i) Marginal Propensity to Consume (MPC)
(ii) Marginal Propensity to Save (MPS)
(iii) Average Propensity to Consume (APC)
(iv) Average Propensity to Save (APS)

(b) Derive the equilibrium level of income for a model 
"r'ith 

the tbllo*ing
behavioral esuations.

C :Co+  bYo ,  Yo :Y -Tx ,  T * :Txo* tY ,  I : I o+aYandO=  O , .

What are expenditure, tax and balanced budget multipliers for this model. v

Find the values of the expenditure, tax and balanced budget multipliers if the
marginal propensity to consume is 0.75, the marginal propensitl' to inr est is

0.15 and the income tax rate is 0.20.
(20 \ larks)

(a) Explain what is meant by the term "the money supply".

(b) WhV do governments believe that it is imporlant to control the growth of the
money supply?

05.



(c) Describe the methods by which the governments can attempt to control the money
suppll'.

(d) According to JM. Keynes, the volume of private investment depends on the rate
of interest and marginal efficiency of capital. Explain this proposition.

(20 Marks)

(a) Explain the concept of price index. Why is it important?

(b) Suppose an economy produces 5 different goods A,B,C,D and E, which
have different prices, given data for different years :

Year I Year 2

Goods Quantify Price (Rs.) Quantity Price (Rs.)

A 85 r.25 86 1.50

B 84 0.96 50 1 .30

C 225 5.60 227 5.50

D I  l 3 3.58 150 3 .15

E 34 3.28 66 2.35

Using the above information, calculate the following:

(i) the value of output in year 1 and year 2 in current prices;

(ii) the percentage change in current prices from year I to year 2 ;

(iii) the price index for year 2 to base year | ;

(i") the real output in year 2 expressed in year I prices ;

v 
(v) the price index for year I to base year2;

(ui) the real output in year 1, expressed in year 2 prices ;

(vii) the percentage change in real output, in terms of year 1 prices from year 1 to
year 2 ;

(viii) the percentage in real output in terms of year 2 prices from year I to year 2.

(20 Marks)

06.



07.

(a) How can IS schedule be derived from the savings and the investment schedule?

(b) Find (i) the equilibrium income level and interest rate

and (ii) the levels of C, I, Mt and M, in equilibrium when :

C: 89 -r 0.6Y (Consumption Function)
I: 120 - l50i (Investment Function)
M,:215 (SuPPlY of moneY)
Mt : 0.1Y (Transaction - precautionary demand for money)

M':24 -250i (Speculation demand for money)
(20 Marks)

8. The following data refer to a country's balance of payment'

Million rupees

Exports 65,500

Interest, profits and dividends (net) +1,080

Services (net) +2,400

Imports 63,200

Current transfers - 1,810

Increase in external assets (net) 30,830

Increase in external liabilities (net) 28,570

Balancing Item 1,710

Using both your knowledge of economic theory and the material contained in the

table:

(a) Explain which is meant by the terms:

(i) the visible trade balance ;

(ii) the invisible trade balance ;

(iii) the current account balance.

And construct a table showing the value of these balances using the data given

above

(b) explain what is meant by transactions in external assets and liabilities (the capital

account)

(c) explain the rate of capital account in "financing" the imbalance in the current

account;

and construct a table showing this role for the balance of payments data given

above.

Note : you may construct one table for part (a) and (c)
(20 Marks)
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